
Math 4. Homework #10.   

 

1. Compute: 

 

 

 

 

 

2. Compute: 

 

6 − 8 =                           −6 + 8 =                            −8 + (−6) =                           −42 − 7 = 

−12 + 4 =                     −4 − 2 =                              16 − (−6) =                          47 − 54 = 

−3 − 6 =                      9 + (−8) =                     −5 − (−7) =                         10 + (−12) = 

        

3. Fill the table: 

 

𝑎 5  -8  -(-189) 43 

−𝑎  -2  8   

 

 

4. Jack divided 1932 apples between 17 people and had 11 apples left, Jill divided 261 

apples between 17 people and had 6 left. If you don’t have a paper and a pencil to help 

Jack and Jill with calculations, can you tell them if they can divide apples between 17 

people evenly after combining them?   

 

 

5. Solve equations: 

 
2𝑥 − 2 = 16  

 
2𝑥 − 2 = −16 

 
3𝑥 + 6 = −48 
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6. Peter got a new book. On the first day he read 
1

3
 of the whole book and on the second day 

he read 
1

3
  of the rest of the book. On the third day, Peter once again read 

1

3
 of the rest of 

the book and now he needs to read 80 more pages to finish the book. How many pages 

are there in the book? 

 

 

 

 

 

7. Table in the picture on the right should be filled by the numbers 

1, 2, 3, 4, and 5 in such a way that no number can be put more 

than once in any row, column or diagonal. What number should 

be in the middle cell?  

 

 

8. At the party, all kids were given identical gift-bags with fruits. All together these bags 

contained 123 oranges and 82 apples. How many kids came to the party? How many 

apples and oranges were in every bag? 

 

 

 

 

 

9. For the given triangles make the correct fit of angles and sides. The figures are not to 

scale, so don’t try measuring angles with the protractor. 

 

 

    
a) 18cm, 20cm, 14cm          b) 50°, 85°, ?                       c) 28°, 72°, ? 
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10.  For the given intersecting lines find x.  The figures are not to scale, so don’t try 

measuring angles with the protractor. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

11. Move 2 matches to new positions to get only 4 squares. Remember, no overlapping or loose 

ends. 

 


